Apartment in Paola



Paola, South



€287,000

Total Rooms: 6

Bathrooms: 2

Floor Area (m²): 96

Reference No: 240231047-146

Bedrooms: 2

Apartment - For Sale - Paola

TARXIEN - APARTMENT situated on the 1st floor served with lift in a small block of only 4 units. Located in a quiet area and close to all amenities, park, school and new hospital. This accommodation comprises of an Open Plan Kitchen/Living/Dining, Bathroom, 2 Bedroom (main with En-suite) a Study room and a well sized Backyard. Being sold partly Furnished and Freehold. For viewing or more information, kindly get in touch with your preferred RE/MAX property consultant.

Features

- ✓ Lift
- Electricity Utility
- Service Lift
- Back Yard

- En Suite
- ✓ Passenger Lift
- Double Glazed

Rooms

- Kitchen/Living/Dining: 4.71 x 4.51 m (21.24 m2)
- Bathroom: 2.18 x 2.31 m (5.04 m2)
- Office / Study : 3.2 x 2.44 m (7.81 m2)
- Double Bedroom: 4.27 x 3.2 m (13.66 m2)
- Double Bedroom: 3.73 x 3.69 m (13.76 m2)
- Bathroom Ensuite : 2.2 x 1.21 m (2.66 m2)
- ✓ Hallway : 4.14 x 1.08 m (4.47 m2)
- Open Space : 7.04 x 3.94 m (27.74 m2)

Gallery







Naima Rekik Caruana RE/MAX Centerparc - Qormi

M: 77026204

E: nrcaruana@remax.com.mt

T: 27344344

RE/MAX Centerparc - Qormi

Centerparc Complex, FIrst Floor, Triq it-Tigrijiet, Qormi, Malta